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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
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General Instructions :
(i)  This question paper contains two parts A and B.
(it)  Part A is compulsory for all.
(iii) Part B has two options : Option — I Analysis of Financial Statements and Option — Il
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.
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TUS - &
PART - A
(AR Ut T Hi-El & e aais)

(Accounting for Partnership Firms and Companies)

1. T o e W BH o foreres <ht fere) weh feurfa =1 Soorg hifvie |

State any one occasion for the dissolution of the firm on court’s orders.

2. Y U H UNEd ST i ETeiert 1 foeen srerer |meiert w1 fowed g 8 |
AU I h THY T HRUT ST |

Change in Profit Sharing Ratio amounts to dissolution of partnership or partnership
firm ? Give reason in support of your answer.

3. 379N UEUT i dTel HISIGR o oITY o YT 1 IY ATSIER fohd 37UTa H SAfemrgur shid
&7
In which ratio do the remaining partners acquire the share of profit of the retiring
partner ?

4, ‘HHIN ik TSHE TH a1 374 2 ?

What is meant by ‘Employee Stock Option Plan’ ?

5. 379 YA o THY Ueh 73 HIHCR i T o feTU 373eH R} hidT I18s ?

Why should a new partner contribute towards goodwill on his admission ?

6. TS, 915 AT 9IS FHCR & qAT 3:2:2 % I § T died & | S o by TgT feohan
AT 3! ¢F TR T 85,000 ft | 5,000 T A IThT L L AT TAT | A T YA
T SR e fopwdl § 6% aTfteh SIS o 1Y HEAT AT | S o STSTHI TEW B
Tt T 3Tk o foTu mTerveres st wfaf® shifw |

X, Y and Z were partners sharing profits and losses in the ratio of 3 : 2 : 2. Z retired and
the amount due to him was I 85,000. He was paid I 5,000 immediately. The balance
was payable in three equal annual instalments carrying interest @ 6% p.a. Pass
necessary journal entry for recording the same on the date of Z’s retirement.
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7. 3T, TS a1 {9 U BH < HIRER & qT 2:2:1 % I H AW died ¥ | 1 304,
2016 <1 ATERT i deft AT T 3,00,000; T 2,00,000 TAT T 1,00,000 ff | wH 7o
e Ui o 31 T Sl &g Lt 7 | 1 IS, 2016 < T w1 gt &1 7T |

(%) e 31 gy T wH i @A 1 Fedmehd % 30,000 foRam @ |
(@) Iueh! geg <ht fafer qes @ w femm & st Y 10T 712,000 61 TS |
Tem o1 9 X H <1 gEahi H IURE o (T ST UsHTEET STt HifT | 3

Anuj, Manoj and Disha were partners in a firm sharing profits and losses in the ratio of
2:2:1.0n 1% April, 2016, the capitals of the partners were : ¥ 3,00,000; T 2,00,000
and % 1,00,000 respectively. The firm closes its books on 31% March every year. Disha
died on 1* July, 2016.

(a) On Disha’s death the goodwill of the firm was valued at I 30,000.
(b) Disha’s share of profit till the date of her death was calculated at ¥ 12,000.

Pass necessary journal entries in the books of the firm for the above on Disha’s Death.

8.  weft, Tgeh qer e i ®H i Hat Yeit T 1,00,000 7 TUT TS hl STR X 15% 7 | forset
= au T I[E 9 T 30,0003 T 36,000 T&T T 42,000 T | ST 1 Yoo TUDet a4
Tyt o AT (YU Mfthe) % € ot o shT W HAT 7 | BH hl @nfa 6t morr Hifs | 3

The total capital of the firm of Sakshi, Mehak and Megha is ¥ 1,00,000 and the market
rate of interest is 15%. The net profits for the last 3 years were ¥ 30,000; ¥ 36,000 and
% 42,000. Goodwill is to be valued at 2 years purchase of the last 3 years’ super profits.
Calculate the goodwill of the firm.

9. =g fafee « = fafes 6 ¥ 2,70,000 s gEfcE 9€1 ¥ 30,000 1 GAATHI
RIEw T 3,00,000 % A e 9L FeRAT | 20% TN 6T YT <eh GIRT QAT A T PTaH
3 100 T & THAT 39N T 60% o Hfeem @ fifira swees foham mam |

1 TGHT % 17T gl fAfide shl qctenl H STTereareh TSHTH= Slefsa it | 3

Kadura Ltd. took over the assets of ¥ 2,70,000 and liabilities of ¥ 30,000 of Bavi Ltd. for
a consideration of ¥ 3,00,000. 20% was paid by a cheque and the balance by issue of
fully paid equity shares of ¥ 100 each at a premium of 60%.

Show the necessary journal entries for these transactions in the books of Kadura Ltd.
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10.

11.

67/1/3

TSI feAfteg 3 T 100 I o 66,000 THAT M I T 20 Tia 770 o e w fifea
T o oI S w1 s&ara fean | wha 3t i 61 yae 1 TR | o ¢ Ee W
— % 30; 3T W — % 50 (Sfiftem afgq) ; den Sw-wem qen sAf=m Ar=m1 W | S A
60,000 371 < foTQ 3Afirem foRam | 3,000 391 o T Sraeh, e yuH wa 31f<m
AT 1 YT el a1, 1 Sigert aeft < Uiyt uTe 81 715 | 3Tk 3791 <1 501 o fora
T | TTEhIcT [T HieE o Tefal feraor o ‘311 §Sft’ SIisT | Wi o Aleq’ o I HiiY |

Tycol Ltd. offered 66,000 equity shares of ¥ 100 each to the public at a premium of ¥ 20
per share. The amount per share was payable as ¥ 30 — on application; I 50 (including
premium) — on allotment; and the balance — on first and final call. 60,000 shares were
subscribed by the public. All the money due was received, except a shareholder holding
3,000 shares who failed to pay the first and final call. His shares were forfeited. Show
‘Share Capital’ in the Balance Sheet of Tycol Ltd. Also, prepare ‘Notes to Accounts’.

Teften e feea U BH o HIRiGR 9 SN veueTe H ffthd TaTd 9en | 9 | e 4 gmn e
feq & 310 § gd @M1 99 @ 11 ® | @ % Y A Uskd  fore 3uq gera e fp
3T Toraur ST&tawe) | oK feam S | aeisn =medt off fop 38 svet feq faafa feee om0
et @ H et fezm S =nfge |

T TTTd eI o I8 Feara ke fo6 afe @y & swept 37w se e S & 98
T gL @M o H:3[eeh foaor sl A SRAf | feean 98y 79 718 | 37a: 9 99T | 3%
310 AT ITATA I 3:2 H eet o1 Hor foram | 9 31gaTa ® aitaaH i faf =61 & i
TR 3T YT T 50,000 foham 1T |

() AT T oRET A o oI STrarveres TS wfafs Hif |
(@) adren qn fee & =agr & Tt H 31 ol g1 geaii ol Jooi@ i |

Tvisha and Divya were partners in a firm carrying on a tiffin service in Hyderabad.
Divya noticed that a lot of food is left at the end of the day. To avoid wastage, she
suggested that the same may be distributed among the needy. Tvisha wanted it to be
mixed with the food to be served the next day.

Tvisha then gave a proposal that if her share in the profit is increased, she will not mind
free distribution of left over food. Divya happily agreed. So, they decided to change
their profit sharing ratio to 3 : 2 with immediate effect. On the date of change in the
profit-sharing ratio, the goodwill of the firm was valued at I 50,000.

(a) Pass the necessary adjustment entry for the treatment of goodwill.
(b) State any two values highlighted in the behavior of Tvisha and Divya.
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12.

13.
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s fafiee = gof snfed 2 10 s % 2,000 37T 57 W 3= 3 14,000 IT9 §C S,
TOT L oo | &X0r foRdl T 37ET H 50 379 1 3 9 Wi 37 qui yed qA: e o feam
T |

379 o BT a1 Y: Fofo Y srravaes U= wfafsat i | 3t g @rar oft duw
SHifsT |
Prayuj Ltd. forfeited 2,000 shares of ¥ 10 each, fully called up, on which they had

received only X 14,000. 50 of the forfeited shares were reissued for X 9 per share fully
paid up.

Pass necessary journal entries for forfeiture and re-issue of shares. Also prepare share
forfeited account.

S T {1 Teh %H o TGN & GAT 4:1 % TIITA § A9 &ied 8 | 31-3-2016 1 BH I
e foreor frt wepm & o

<A ¥ R) gt T (3)
goft ¢ e 2,40,000 ferfirs weafRyat 3,60,000
a1 1,20,000 3,60,000
3,60,000 3,60,000

31-3-2016 I FHTH §T ¥ & &9 T 90,000 1 TEIEHI H Yt W 12% Jid a9 =< 741
a1 i T 3,000 i 7 o feu fomm wfe ez | 99 o SR <1 3 T 24,000 1 e
13 T 12,000 hT ATET0T o |

1ot SRR feuaforrt w61 oo &9 & gurid g¢ Ffe Med o fofw smmeveres fafy Hifvw |

Diya and Rina are partners in a firm sharing profits in the ratio of 4 : 1. The following
was the Balance Sheet of the firm as on 31-3-2016.

Liabilities Amount ) Assets Amount )

Capitals : Diya 2,40,000 Sundry Assets 3,60,000
Rina _1,20,000 3,60,000

3,60,000 3,60,000

The profits ¥ 90,000 for the year ended 31-3-2016 were divided between the partners
without allowing interest on capital @ 12% p.a. and salary to Diya @ % 3,000 per
month. During the year Diya withdrew ¥ 24,000 and Rina ¥ 12,000.

Showing your working notes clearly, pass necessary rectifying entry.

5 [P.T.O.



14. (k)

(@)

(a)

(b)

frafafaa 12% womE o fea 9t gfafs Hifs

fiae fafies 92 100 I & T 2,70,000, 12% RIS o1 7T 5% o 9 W
ToraT | SRUTaET BT 3 110% WHETE |

Trfaftaa o=t o e ) s gyt Hifsw

(i) T fafires 7 T 100 7&@% & T 7,50,000, 14% RO 1 Mo =
Tred W Tifia forem i o, 32 % 10 Yk o |wal 37l ° aiEfad s
foram | wwan 31 w1 T 25% o6 Siftem 9T fomam o |

(ii) oeg feafies 3 9 T o 2g @3 % T 100 T3 3 5000, 12% RO 1
3 T 98 Tfd swure T |
SRS Y =, SRS e e qen s <ht wfafyat T8 vl 8

Journalise the following transaction on issue of 12% debentures :

Pincel Ltd. issued X 2,70,000, 12% debentures of I 100 each at a discount of 5%
redeemable at 110%.

Journalise the following transactions on redemption of debentures :

(1) Ritel Ltd. redeemed X 7,50,000, 14% debentures of ¥ 100 each which were
issued at par by converting them into equity shares of I 10 each issued at a
premium of 25%.

(1)) Namex Ltd. purchased its own 5,000, 12% Debentures of I 100 each at
% 98 per debenture for immediate cancellation.

Ignore entries for Debenture Redemption Reserve, Debenture Redemption
Investments and Interest.

15, Tafay st (ks 1 BIH) TUT T 987 AT 1 TGS QT H TR L h
TETq 31 T, 2016 i 0 AT Td S BH o fogeq W faferfaa oet & fog
JTErvarh U= FfAfSaf ST | 9 2:1 % 19T § ey -1 sied 9 |

(%)

(@)

()

(=)

()

(=)

67/1/3

g T YA T % 10,000 1 Teh Tt o= o | fafwe v St | 9 gt o S
feanforn &1 |

% 30,000 % <F forat St 30 314, 2016 1 < EH &, ST YPTAE T 29,550 H fera
T |

% 30,000 % THERI A T 10,000 3T T 10% o g T o foFa1 a1 32 AT 61 P
g ToharT TR |

Teh <Rl weiH off, o gt ot | STafcTRaa o feam TR AT | 5T SHTHA Toshd
T T 600 T | 3EhT T + STIATHA T | 25% S T o foram |

% 1,000 o A 9 379 3 Tereress sl ot s <ht wgwfa <t qen g aeft aeett == o
& HUT | AT FEeit 7 T 800 T SFTAH HH + foha |

ferere W 2 54,000 1 & |



Give the necessary journal entries for the following transactions on dissolution of the
firm of Aman and Rajat on 315 March, 2016, after the transfer of various assets (other
than cash) and the third party liabilities to Realisation Account. They shared profits
and losses in the ratio of 2 : 1.

(a) There was a bill of exchange of ¥ 10,000 under discount. The bill was received
from Derek who became insolvent.

(b) Bills payable of ¥ 30,000 falling due on 30" April, 2016 were discharged at
329,550.

(c) Creditors of T 30,000 took over stock of I 10,000 at 10% discount and the
balance was paid to them in cash.

(d) There was an old typewriter which had been written off completely. It was
estimated to realize ¥ 600. It was taken away by Rajat at 25% less than the
estimated price.

(e) Aman agreed to take over the responsibility of completing dissolution at an
agreed remuneration of ¥ 1,000 and to bear all realization expenses. Actual
realisation expenses ¥ 800 were paid by the firm.

(f) Loss on realization was I 54,000.

16. gl U2y fafire 3 T 10 9% % 1,60,000 T9ar 311 i T 3 Ufd 379 & Hfiftem @
fifira s o ot STTere stwtm fopdl | T 61 YA 7 SehR & et o

AT W — T 6 Ui 3197 (3 1 Sifeem wfEa)
3TEeA W — ¥ 3 gfd 31 (% 1 Hfiftem wfga)
T TF 3 IEET W — 9

1,80,000 3731 < foTu 3T1ee ITH 5T | 10,000 37T o foTT 3TereHT st T8 o feam mm aen
I 3TAehT ol ST IR W 379N 1 SATe L TG T | 3reied W e AT
TN AT ST FHRISH W T T H L foram mam | A1fecy =1 Bt S8 3,200 37911 1
SAtses fomam T o, gt IreETd 9 ot T 9 UTH Bl S | 3Heh 37 kT BT oK for
T | §T0T foRd TR 7RI W | 3N 37 oI T 43,000 H YOI e YA ftfira s femn mm |

I el & foT A15g =g fafies i qeaehi § 3Tewaes UsHm=n Sfafsat
HIfT | 8
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firdt fafies 3 2 100 3= & 27,000 3790 =1 it s & foiw 3mees smmf=e fohu |
YA 1 TR & T o

e T — T 50 Tfd 379
3TMEeH W — T 10 gfd 379
g q7 31fa" I=AT |/ — Y

40,000 3791 < ToTT 3TTeeH STH T | 7,000 37T 3 IATeIGehI hl IOT 3TTE HL feam i |
I 3TTSGehI I AT IR T 20,000 3T T e HL fgam T | ST W IH
AT TR T THTISH 3TTeeH T ST 9T ¢ TR H ST Tt =T |

600 37T 6T Teh Gh, TR, ST 39 Aol & wrafra oft @ qot sreres fopam m, 4
FTIAT TR T YA JTEH b G0 B TG | 3Tt 511 39 Aoft | Feaf-aa o @ 37 1
JMEeH ST TR WX feham T 21, 3 379 200 370 W 3TeIEH o U9 hls YA
TR ToRaT | 37X ok 37T T TUW TT ST AT o I BT Bt ToIT T | 3 3790 <
TG H T 105 Wi 3791 07 e G: it ot feam i |

TET YT &, ITed AT GrdT aem 1R A1 Qa1 Wietehl ULt el &
foru T fetfiree <t gt O STTaweres UsHmE=N Siafsar Hifsu |

Nitro Paints Ltd. invited application for issuing 1,60,000 equity shares of I 10 each at
a premium of T 3 per share. The amount was payable as follows :

On application — X 6 per share (including premium X 1)
On allotment — ¥ 3 per share (including premium < 1) and
the balance — on first and final call.

Application for 1,80,000 shares were received. Applications for 10,000 shares were
rejected and pro-rata allotment was made to the remaining applicants. Over payment
received on application was adjusted towards sums due on allotment. All calls were
made and were duly received except allotment and final call from Aditya who was
allotted 3,200 shares. His shares were forfeited. Half of the forfeited shares were
re-issued for T 43,000 as fully paid up.

Pass necessary journal entries for the above transactions in the books of Nitro Paints
Ltd.

OR
8



Midee Ltd. invited applications for issuing 27,000 shares of ¥ 100 each payable as
follows :

% 50 — per share on application

% 10 — per share on allotment

Balance — on first and final call.

Applications were received for 40,000 shares. Full allotment was made to the
applicants of 7,000 shares. The remaining applicants were allotted 20,000 shares on
pro-rata basis. Excess money received on application was adjusted towards allotment
and call.

Asha, holding 600 shares was belonged to the category of applicants to whom full
allotment was made, paid the call money at the time of allotment. Ankur, who
belonged to the category of applicants to whom shares were allotted on pro-rata basis
did not pay anything after application on his 200 shares. Ankur’s shares were forfeited
after the first and final call. These shares were later reissued at I 105 per share as fully
paid up.

Pass necessary journal entries in the books of Midee Ltd. for the above transactions,
by opening calls in arrears and calls in advance accounts wherever necessary.

17. 319, 2016 ! 9¢ a2 fafer S oy 2:3 o 39Td § died &, =1 fRufa foawor f= g

Jor: 8
A Tt ) gt T ()

T <1 Goft 5,20,000 | yffy 1 e 3,00,000

ferfer <t Goht 3,00,000 | Tefd 2,80,000

= T 30,000 | ®feh 80,000
2 e 1,50,000 | geR 3,00,000

LERICEIE] 10,000 2,90,000

EED 50,000

10,00,000 10,00,000
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1 39, 2016 & 9y a1 fafyr 3 TRE i Th T AR’ % 9 G Yo9 ¢ 1 o forem aun
ITehT T ATH 3TATT 2 : W3 : 5 BT | TR 379 4Sit o6 1w 3 4,00,000 o @f SiftRem &
319 9T % foT Tehe T &8 |

(%) Y 6! BTN T oo T 3,00,000 T 7 |

(@) ff TuT e 1 YR T 26,000 T HH fopam T |

() wferer SR % FoTT FTae™ AT SHERT % 5% o STER ST o7 |

(9) SR &fagfd 1 T 6,000 T Th EET T |

TR T, |TSiERI o Yoft @rd qer gifea wi ot fefe feremor Gom hifs |
e

T, HET AT YL ATHER & AT 5 2 3 : 2 < I H 1 s1ed ¥ | 31-3-2016 i 3Teh1 &4Td
[EEIUASIS B AR

s Wy }) gt T ?)
ST THER 26,500 | sieh 25,000
Rt wiasy fafy s 23,500 | &TER 30,000
3t sl it 1,00,000 | =7 55,000
g <l ISt 50,000 | TerRft gt 1,20,000
EGEaR el 40,000 | ez @ 10,000
2,40,000 2,40,000

1-4-2016 %l 37Tal = ST TE01 L Foralm | 390 Iewdl o ToTQ, ot Tmaiiom o Hewf &%

67/1/3 10



(%) TR BT oAThA TR TET <hi fafer & qd o7 ot & 3|d @9 < < aut o
TR TR SIRATT | TUset 9t <6t T o

2013-2014 % 55,000 ; 2014-2015 % 65,000 ; 2015-2016 X 60,000

(@) TRl FEfE i 2 25,000 ¥ SGHET T |

(TT)  Teh o1 JeATRA T 5,000 3Tereh foharm T |

(&) 3fa 1 T 20,000 BT PTAH G B AT T TAT AW DI ITh H/O @A H
TG o e T |

TR @A, FTSERI o YSfl Wd aUT gifed w4 o1 ferf faawor dam Hifv |

The Balance Sheet of Madhu and Vidhi who are sharing profits in the ratio of 2 : 3 as
at 31% March, 2016 is given below :

67/1/3

Liabilities An(l;;l nt Assets An(l;;l nt
Madhu’s Capital 5,20,000 | Land & Building 3,00,000
Vidhi’s Capital 3,00,000 | Machinery 2,80,000
General Reserve 30,000 | Stock 80,000
Bills payable 1,50,000 | Debtors 3,00,000

Less : Provision 10,000 2,90,000

Bank 50,000

10,00,000 10,00,000
11
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Madhu and Vidhi decided to admit Gayatri as a new partner from 1% April, 2016 and

their new profit sharing ratio will be 2 : 3 : 5. Gayatri brought ¥ 4,00,000 as her capital

and her share of goodwill premium in cash.

(a) Goodwill of the firm was valued at ¥ 3,00,000.

(b) Land and Building was found undervalued by X 26,000.

(c) Provision for doubtful debts was to be made equal to 5% of the debtors.

(d) There was a claim of ¥ 6,000 on account of workmen compensation.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

OR

Ativ, Meha and Nupur were partners sharing profits and losses in the ratio of 5 : 3 : 2.
On 31-3-2016, their Balance Sheet was as under :

Liabilities An(lg;l nt Assets An(l;;l nt

Trade creditors 26,500 | Bank 25,000
Employees’ Provident Fund 23,500 | Debtors 30,000
Ativ’s capital 1,00,000 | Stock 55,000
Meha’s capital 50,000 | Fixed assets 1,20,000
Nupur’s capital 40,000 | Advertisement expenditure 10,000
2,40,000 2,40,000

Ativ retired on 1-4-2016. For this purpose, the following adjustments were agreed

upon :

(a) Goodwill of the firm was to be valued at 2 years’ purchase of the average profits
of 3 completed years preceding the date of retirement. The profits for previous

years were

2013-14 % 55,000; 2014-15 X 65,000; 2015-16 X 60,000.
(b) Fixed assets were to be increased by ¥ 25,000.
(c) Stock was overvalued by ¥ 5,000.
(d) < 20,000 were immediately paid to Ativ and the balance was transferred to his

loan account.

Prepare Revaluation account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

12




18.

19.

20.

67/1/3

QU o
PART - B
fawea -1

Option — I

(Feri Farrei t fawe,

(Analysis of Financial Statements)

T TR 3afy | Ushe warg faawo sem <t fafim wiafafem @ e’ aur Ushs I’

A1 Td STRIATE ST @ | Uehe ToiTe foreiu GuR st & 3298 ¥ ‘TUehe’ vl 379 & |

Cash Flow Statement shows inflows and outflows of ‘Cash’ and ‘Cash Equivalents’
from various activities of an enterprise during a particular period. Give the meaning of

‘cash’ for the purpose of preparing Cash Flow Statement.

i ueh nifafafin s et e S I YRR o 3uH o o7 ues T nfafafr g |

Give an example of an activity, which is a financing activity for every type of

enterprise.

31 9=, 2015 AT 2016 i THH §C T o fo7T R fafies & = -1 foewor @ v

I 3TTRT oAl foraor Gam hifsre .
) 2015-16 | 2014-15
Terero qCH.
L] ()
=T 3T 25,00,000 | 20,00,000
HHAR T T 10,00,000 |  7,00,000
I @A 2,00,000 | 3,00,000
LT 40%

From the following statement of Profit and Loss of Star Ltd., for the years ended
31% March, 2015 and 2016, prepare a common size statement.

. Note 2015-16 2014-15
Particulars No
. () ®
Revenue from operations 25,00,000 | 20,00,000
Employee benefit expenses 10,00,000 7,00,000
Other expenses 2,00,000 3,00,000
Tax rate 40%
13
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21.

22.

67/1/3

(=)

(@)

(a)

(b)

(%)

(@)

(a)

(b)

ot Srferfm, 2013 6 g 111 o FFER F= 76 6t ge Sfivehi e 3u-sfivehi
(afg ) # arfiepa SHifo :

(i)  ISTTd STl SR O Qe
(i) GuTRETTYd o fore yaym |
foreftar foraoni o farweror 6 fohedl g1 3ewal 1 Ioor@ SHIfT |

Classity the following items under Major Head and Sub-Head (if any) in the
Balance Sheet of a company as per Schedule III of the Companies Act, 2013.

(1)  Capital Work in progress; and
(i1)) Provision for warranties.

State any two objectives of ‘Analysis of Financial Statements’.

TS TUT R 9941d G A T 1,00,000; =1e] TR T 4,00,000; =Te] GIand
T 2,00,000; H T 20%; TR gwfqa T 6,00,000; 10% EE-3tafe wo
% 4,00,000 |

Frore w e <6 o <hifTe |

Teh P hl AT T Fehed oTH hl & 25% & | 8R! Hehed o1H 2 5,00,000; SHHT
JrRIERe 1 T 12,00,000 ; 3T AT 3 3,00,000 TAT =6l FFI@T 3 10,00,000
g

3HHT HIIE YSft TTad AT 1 HIfTT |

Net profit after interest and tax I 1,00,000; Current assets ¥ 4,00,000; Current
liabilities ¥ 2,00,000; Tax rate 20%; Fixed assets ¥ 6,00,000; 10% Long term
debt ¥ 4,00,000.

Calculate Return on Investment.

Rate of Gross profit on cost of a company is 25%. Its Gross profit is ¥ 5,00,000.
Its shareholders’ Funds are ¥ 12,00,000; Current liabilities are I 3,00,000 and
Current Assets are ¥ 10,00,000.

Calculate its Working Capital Turnover ratio.
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23.

18.

19.

=1 gz & fraw wiafafe @ Teke yamg i morn ifse 6

oo 319, 2015 }) 319, 2014 )
CICEAEER 13,00,000 3,00,000
10% el - rafer g 1,50,000 2,00,000
I YT A 1,40,000 1,20,000
L] 4,00,000 2,15,000

Frfafen AT :

% 35,000 AFTd 1 U A (8 W T 15,000 JoIgm@ TR =1 A1) 1 ¥ 35,000
ST TR | 9 % SR 45,000 T HoIg T SR TR |

Calculate Cash Flows from Investing Activities from the following information :

Particulars 315t March, 2015 ) | 315 March, 2014 )
Investments in Land 13,00,000 3,00,000
10% Long term Investments 1,50,000 2,00,000
Plant and Machinery 1,40,000 1,20,000
Goodwill 4,00,000 2,15,000

Additional Information :

A machine costing ¥ 35,000 (depreciation provided thereon I 15,000) was sold for
% 35,000. Depreciation charged during the year was I 45,000.

gus -g
PART - B
faea — 11
Option — 11

(e fer dai®)

(Computerized Accounting)

‘ST S HI R AT ? 1

What is meant by ‘Database’ ?

gRadeiiet aitch | AThgl T TS A, HATIT B AT THATS i o {o1C 39T fopt
ST ATt TRl QI T & T §RT | 1

Name any two software tools for organizing, processing and querying data in flexible
manner.
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20.

21.

22.

23.

67/1/3

TH | o JehR 1 ATH FdTd 5 30 THSST SN §g-ITANThal qeil e - Tl w
foret gu oIe el TTeHl i STTawIeharati sl I il ¢ |

Name and explain the type of software which meets the requirements of large business
organizations with multi-users and scattered locations.

HRIEIhd TI@Th AT o fohrgl =X TTHI <l FHIATIT |

Explain any four advantages of computerized accounting software.

‘B’ w7 7 Togfea v, Aramo wE B fhg TR iR 2

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

TS RN & AThel o1 Mgl ¥ IReies foham ol 9 9w s aTefl 9roft =1 9
AT | 3Heh foredi gie ol w1 Ioora oft hifST |

Name the table which is an interactive way to quickly summarize large amounts of

data. Also state its any five advantages.
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